IR TSI 31T Bt =T A, TGS,
o= wn-01 -udien/2025
TRk Jtean udien (PET)-2025
I el (AR Te)

udften fafer : 06-09-2025 aret : o

S foroor wree fersiwont <R fosiwdr sard &, 3§ % HaEd 8 7
Tfergigor

‘S U HEF & HEHIBL I 8 ?
LD

ITHR B! THA 1ot B FEd © |
<hdl3d

‘TS’ qGHA TG g, IAH! qcaH g 2 |
aT

T T g g 7, Tl wsgi § & TEt weg b1 =5 HIfC |
IR

fdw (9.9. 6 - 10) : F=foRad e # T I8 T FwH % IW AR |

A= FaTeAh R UM 1 JIAHIUE i dTel HENEd STHiig Sl aear gu § g - Imehl 3R
9 TS 33- B WICIE o1 WHAT T2 o Uil ifeh 3Heh UTH &gl 91 2 | U feufa # & et
M1 98 T =118 3R g 3h1 R A13Tl i Siet 9d i o fo7g Iia e =nfee |7

Ig G & BTEl WO W el EH e wuft | i i 5 gAR Tica-Tdlcd 1 heiiehd B,
T8 TE B T Sish Fweett |

HERIEd AT 31 FERI ! 36 HaW g3 | 3R o Mize= & 7 | 32 bt 9w ugd fomn |
IR AEIS 3 AfH-Fg T ST qUT T Bl Tsaferd i arell gt amiEt sl | e grew 3o
AT-FARI AT 3R Fard HATT ...

T AT AT 3 FHaT-wi @1, gu A o fm-ge § = @ w2
“‘mrafer @ % fow |

‘T B IG A g8 Ael W wHhdl ¢

3F T 7 ITEHR H FHET- T Tkl &, &N BT aH W TG HA gL AT B | T E 3! NG & W
3o Sfifed ®9 4 yehe 9 o1 ot e B, 99, ¢
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“3Mg "’ AR BT A FEl - “TAG T A g 9eft B | fere, A @, 7 w9 S I W I g 17
T ot Tk AU H IS @ e - W IG I 98 HU G | I8 Ig Toha T HIH BT B, feRaHT
Sived a1 B, 3O fehat GO 2, 1 AT 99 & T @ "ot 77

“Ig I WH W A A @ IR YW I W W | A9 fomitg W faufa o &% 7, 36
HH-TATel % TG S @ §; U8 T Y9 I 91d 1 g & H HI 910 ARG Tt 7 | 31eft
ok g 1 91 KU, TF-TER H 91 KA, IcaT h Id U | §H ST g Bk A R Bl
ffyea s @t |7

B HaTeh 3T HEREd STafg o1 TgTeht Ig U1 H I <l &1d i ofTd & 7
HafE S

Tsh HATl HAT ST A g O O F T gt 7 7
T T <R - § ol v R S 2

HEREA 3R 3 TGRSl F1 Ja gaf ?
el ETEt Uit TE W gt o oI TR @ S R |

FaARt w1 TS F g h & A well A R P
IR Fg i THA ST Tehe ST W S gTeATd gl 368 & o foru |

10.

T8 g I 9 HU ST | I8 g FehaT W BIaT 2 | 39 91T i Fope foperd et 7
T gt A ot o

few (9.4, 11 - 15) : Fr=fafad meme S Tew @ ™y % W AR |

® HE HEW 9T I I | g8 I fio IEER <@ @ o1 fF 9 qEE H @E W F gh,
QIgFAR 1 A8 g3 S0 S H STehgl Al g3 g sl Y3 # kg WiH o et ol ATg 3
T | 77 gaUsg & T oft | Y g 3 Tied §¢ BT, el @ fim 7 a1 9, 93 Feid ¥
MG 1’ IR S W T gaen TRl TR H 3T T A1 3Ei TIUTETA TE ¥ IH kgl L M
I |

T Hish W B TR A0 Jqt i 3THaR H ¢ <d ¢, B AT @S q@d ®d 8 | H q w0 H T
fre 7 M g@ IEA TR wotot A @ forn ? &S 9 | #Y S gaen € 3@ feam | gden
zafeTe 3Eeht yeeit & |9 e fop g3 wrom o fo6 & gawsg & e w1 £ | foeht wa =i e fm A
A foh ‘% SO TEUA AR g R T h WY ISH AW Bl G -dH G JRERI a1 e & |
39 GIAT o S 99 3N Tk 98 W el N al §4 IR 3 1 Pl o= Ragewr fem iR
o, il 2 suh Sidl d Big @ | W F IR Hie B A ¥ W 2T 6 97 TEA Bl
Helsl ¥ fo9er 8 | B S gausg 9 ATMH e, a1 gaeTl &t 7 SgHT a1y |

W g W e AT H U R | 35k 3 W T A, Skl fie % gviea™ % @9 faeg Yok &
-8 el ATHIIAT hl Tehg, T T Belshdl I8 TEHH T8 3 98 Wafea amil |
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e, ‘o1uft geg T M F 3T N Thew g A T T, S ST T WIS G @S |
et 1 3G @A B 1’ 3 & IS S HEE | ol I AT 7, 98 G AU o a1 T oo | 3™
g3 # I TASH IFE 3T T @ @ | B A 52 Feiy faeamerdt g # | 9 3ea, void %
I g3 Sietd & | 39 4@ & TR, fsyeeH g € freserdn € | 3w Teder T # | 9 3R
T I R@ § AR I YD, A o Hedl, ‘FHerehdl I @7 |
M. | & ‘& 3 ohge St &1 3194 918l § STeheT a1 3= (hd TG 1 TgHT g1 7
EIARTEE <ht T3 | STehg HiW o Jaet <hi A1g 3T |
12. | fusselt Ud 39 T T 9 %’ & a1 H 97 HET AT ?
‘@ A T H A T g St R A oft |
13. | fooell U@ ‘&’ el W 3T g3 o1 ?
U TG |
14. | 99 ‘%’ oi@s St A fireM 377ar 8 a1 ogek St 3 39 W1 o’ foRa 7
TG S = IR 370 A i Raerehte f:5g Sheleit <8 ol 38 digl § SigT o |
15. | oi@e St & U RwdeR o= S 1@ 8 3R 398 4B, 1 9 .1 el ?
FHAHA @G |
16. | frferRaa & & siM-of org g Tar & A gRI [T A1 ITART TE i TS off 7
gl
Which of the following metals was not known or used by the people of the Harappan
Civilization ?
Iron
17. | Bigra 3ufiee s &9 8 fafefga @ @ forg anym o1 wefifa st @ 7
FaTer, TERY 3R ARy
The Chhandogya Upanishad clearly refers to which of the following ashramas ?
Brahmacharya, Grihastha and Vanaprastha
18. | fftees o fopm wmr o §g i arafes frend 8 2
ga fUesw
Which part of the Tripitaka contains the conventional teachings of the Buddha ?
Sutta Pitaka
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19.

23 o ditefert TvETY | ST Wefleh AT 8 7

2

|qau

What is the symbol associated with Parshvanatha, the 23 Tirthankara ?
Snake

20.

TgEH o AR Rrarere § geei sl o1 Sooi@ 7, foreest fmior fopm 51 sees < Smeeehral §
g3 AT ?

EEUEIC]

The Girnar Rock Inscription of Rudradaman refers to Sudarshan Lake, constructed during the

reign of which Mauryan ruler ?

Chandragupta Maurya

21.

‘SepiITeh Teeell 31T Siean Yo fohaeh g Tehiivra shi 78 off 7
R.E.

The book ‘Economic History of India’ was published by
R. C. Dutt

22.

‘IR o g 3liee B % ®9 o fRY ST ST B ?
FETHTE eRt

Who is known as ‘Grand Old Man of India’ ?

Dadabhai Naoroji

23.

WA SISl YEATd e TTid feham = o1 ?

ST 1942

Quit India Resolution was passed in
August 1942

24.

Y =5 919 I WIS Taad] S i 31eaerdn fohed |idt ?
T fagrd |

Who handed over the Presidentship of Indian Independence League to Subhas Chandra Bose ?

Rash Behari Bose

JF4
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25.

“BIEE sieh’ shl TATIHT fore hi ?
gum og S|
Who founded the ‘Forward Bloc’ ?

Subhas Chandra Bose

26.

fireaa o srarqa TG el AT & |
TEnTar
The Brahmaputra River is called in Tibet.

Tsangpo

27.

frefafaa § @ H-81 U9 Yo & Afd-gred 6H qad TR THE1 61 A @8 7

ESIC)

Which of the following States faces the most serious issue of groundwater over-exploitation ?

Punjab

28.

fireart dieni & ffoafea § & -1 SgEes g § 7
Tl HERUT < fu e o=

Which of the following adaptations is common in desert plants ?

Thick stems for water storage

29.

frafafes & @ $9-8 99 @R o+ & IEA B 7
e
Which of the following forests are adapted to saline water ?

Mangrove

30.

foreft <1 % B, SRR IHATYYT Sh1sal § fawTSH ol -1 Ieg quIfl & 7
STCh-ThTT

What term describes the splitting of a country into smaller, often hostile units ?

Balkanization

31.

“HISIH 3% FHAIF UG - I8 *1 fheeh gy forar w2
Hifer FATH

“Conditions of Economic Progress” - This work was done by
Colin Clark
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32. | wra # fas™ #1 LPG Afed o yeqa feram o |
1991
LPG Model of development was introduced in India in
1991
33. | “SgavHe WTHT-g T TRHIRT Iwih g foreht g oft |
gEHg Tshadl
“Development Planning — the Indian Experience” book was written by
Sukhamoy Chakravarty
34. | VWG H IUHERT TRV Tt fRE oY i gam o ?
1986
Consumer Protection Act in India was passed in the year
1986
35. | v srdeawen i {ig 2
H
The backbone of the Indian Economy is
Agriculture
36. | AR HlaY™ % 3108 57 % ITIEN Hi3 A S % ®9 U g YN L 7, A e
Ug g TR B, 59 W™ % 31 yEuHl % 37efiF, 30 ug W - & I u g |
wezufa
According to Article 57 of the Indian Constitution a person who holds, or who has held, office as
shall, subject to the other provisions of this Constitution, be eligible for re-
election to that office.
President
37. 1 319 IR T o 3Te8¢ 243Q % AT TSd TawmeH hl Twer 8 |
TRUTfCTeRT
means an institution of self-government constituted under Article 243Q of
the Constitution of India.
Municipality
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38. oo H U ¥ AT T TR o i i g g |
e
refers to the existence of more than one level of Government in the country.
Federalism
39. | Y WA 3R T o Toig & &g & 0T IS hl e ST 8 |
I Rl
The time gap between the question hour and the agenda of the day is called
Zero hour
40. | v e 61 Ig=se 129 % d&d, 1 Al 1 e Afvd foram me R
Hated ="
Under Article 129 of the Indian Constitution, the has been declared as a Court of
Record.
Supreme Court
41. | favar=L ame & forg form Sueptor o1 ST feman Sran @ 7
Aeetiicy
Which instrument is used to measure potential difference ?
Voltmeter
42. | 2 TfFRR fagd 9T SETied S 9 AR % &1 g1 o ste faWeT 0.1 9iee § | 39 fogai & o=
iRl w1 8 ?
0.05 31
Potential difference between two points of a wire carrying 2 ampere current is
0.1 volt. What is the resistance between these points ?
0.05 ohm
43. | & vEmfyes rfufshar S St ot amiya St g Afufshan s & arue w s g9 ggar
g7
e frar 2
What happens to the temperature of a reaction mixture when a chemical reaction absorbs
heat energy ?
The temperature falls
44. | Thfaeh T8 o oI ol HeATAdT HATTRAT o &9 § FAT afiehd fohdl T & 7
e 38 ffehan | I Ieu= 2l @
Why is burning of natural gas classified as an exothermic reaction ?
Because heat is produced in this reaction
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45. | wga ® SR AT gg1 3R T fopees g Rt B @ ¢
aftEem
In human beings, the posture and balance of the body is controlled by
Cerebellum
46. . 1
17401 40 e 1 122% @ 7
12.5 e
1, o
125 % of 1 hour 40 mins is
12.5 mins
47. | 2 G HI UEEA 1530 & 3 AR T.E.9. 15 ], @ IR A.G.9. T8 7
102
The product of 2 numbers is 1530 and their HCF is 15, then their LCM is
102
48. | frefefad 8 @ wA-E s~ @ @ R
57
Which among the following is not a prime number ?
57
49. . 1 1 " 1 .
afe o fopell T @ 5 Ferd & ST TR Bl 5 | O Rd §, A el o faerdr 7 | g
CRIE I
3
4
1 1 1
If you subtract 2 from a number and multiply the result by o, you get 8- The number is
3
4
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50.

290 frm @ AR quitet % = R & 2
17 3R 18

Between which two consecutive integers does /290 lie ?

17 and 18

51.

Fohd I 1 afeat & 3T S 98 F1 U 9 7 | TiER § R 75Y Few § 7
2

Suket has three daughters and each daughter has a brother. How many male members are
there in the family ?
2

52.

U Tl "l HI e i gg 2 92 20 fime o fohat wiofi ¢t a3 wuft ¢
840°

How much angular distance will be covered by the minute hand of a correct clock in a period
of 2 hours 20 minutes ?
840°

53.

fird Y 31Y it o T B il 9 Jeal &, A1 giHa T I 2, A1 S 9 B § Al
T @ 91 2, g e @ B 8 | 3T G99 981 H 8 7
ST

The age of Amit is same as Sumit because they are twins, Richa is younger than Sumit, Richa
is younger than Jyotsana but elder than Saurabh, Sumit is younger than Jyotsana. Who is the
eldest among them ?

Jyotsana

54.

fr=ferfaa & & firm wisg gfg |
TAWES

Find the odd word from the following.
Bat

JF4
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55. | freaferfiga s sj@ett 4 9w fog (7) o TUH R A@H ?
4,12, 36, 108, 324, ?
972
What comes in place of question mark (?) in the following number series ?
4,12, 36, 108, 324, ?
972
56. | frmfafaa § @ fFR 2024 & TU-dUH & T 31 TR (SsHeEH) e 2
TREAThTA TTRTH Ueeh
Who among the following received the Arjun Award (Lifetime) in 2024 for Para-Swimming ?
Murlikant Rajaram Petkar
57. | 1891 yarE Wi fee® (PBD) ¥WieH 2025 el TG foham T o ?
HIATR
Where was the 18" Pravasi Bharatiya Divas (PBD) Convention 2025 held ?
Bhubaneshwar
58. | A gRI TaUSE foiT She T™d (IBCA) 8 I& fohart T o1 7
9 31U, 2023
When was the International Big Cat Alliance (IBCA) launched by India ?
9 April, 2023
59. | 26 fegist, 2024 @ fopm 2w I SRR FAfhHt SN ¥ guREIf s UAV-122 1 et wdem
T 7
il
On 26 December, 2024, which country successfully tested the firing of the supersonic missile
UAV-122 from the Bayraktar Akinci drone ?
Turkey
60. | 2025 T et Toha =1 GERR <ht TSN i 75, FEH Th T AHAT (Th o &9 H 47 W) off
e & 7
139
How many total Padma Awards were announced in 2025, including a duo case (counted as
JF4 10 MASTER SET




one) ?

139

61. | Sfeea g2, f=8it 6 adt, 2025 i 30 &% 6t =iwon 6, fhg T 6 JaEES 9 7
hATST
Justin Trudeau, who announced his resignation on 6 January, 2025, served as the Prime
Minister of which country ?
Canada
62. | mfiw fque & 1 S, 2025 & o1 HErEtae e fopam |
THITHUSE <IWH ST Shind UUE SSE AT 3 (ASSOCHAM)
Manish Singhal was appointed as the Secretary General of on 1 January, 2025.
Associated Chambers of Commerce and Industry of India (ASSOCHAM)
63. | wrdry fofd S (RBI) Tchlel HUT-UR GeUl YT T&H i o forw fopm siaisdi vgar o smftrat
gAR 7
Tiiere Sad
Which international initiative has the Reserve Bank of India (RBI) joined to enable instant
cross-border retail payments ?
Project Nexus
64. | 31T TIZFAN 2025 WRA 3R fohd 31 & ofiwr sl fepm T 8 9
firm
Exercise CYCLONE 2025 is conducted between India and which country ?
Egypt
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65.

WA 1 TgeTl foeRlt S 39 hg fohe <o 3 9% g7 ¢
o™

India’s first overseas Jan Aushadi Kendra was installed in
Mauritius

66.

arer’ ohE T 1 T TRUR A1k AT §T B 7
AL TSI

‘Maach’ is a traditional folk theatre form of which State ?
Madhya Pradesh

67.

RIS h TG w17 7
g

What is the capital of Cuba ?

Havana

68.

e wfa fopm T w1 & Tfia @ ¢
I I
Rasiya Geet is a regional song of which State ?

Uttar Pradesh

69.

o foies & day § fefafied § 4 sH-w Haa g 2 7
T Hae cArRAT | U9t R ST Tk 2

Which of the following statement is true regarding the Money bill ?

It can be introduced only in the Lok Sabha

70.

27 foaast =i % ®9 T TR ST 2 |
forva ueien feam

27" September is observed as

World Tourism Day

JF4
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71.

IR AT IgFH HTSH (ICAO) T JEATSTT hal feord & 7
aifeas

The International Civil Aviation Organisation (ICAO) has its Headquarters in

Montreal
72. | poeTied TS oM WA % T U9 8 fR 8 2
TSI
Keoladeo National Park is located in which Indian State ?
Rajasthan
73. | v o yifr Efr foRaw TET % W Emen AT R 7
7
India shares its land boundaries with how many countries ?
7
74. | wwd 3 1983 Thehe fava wu wrgw ° form S w1 g o 7
FEEEA
India defeated which team in the 1983 Cricket World Cup final ?
West Indies
75. | T& ATHAW d faehE e (DRDO) i €TaT fohdt o g3 off 7
1958
Defence Research and Development Organization (DRDO) was established in the year
1958
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fdw (w.9. 76 — 80) : Ffefgd S 1 wamgdes s1eem 3t i fow o et & W |
feam T R U ute STT-3Ter ghMl § o= TS afewdt (SR 3R geft) (ferctiume #) i AT 5
TIfaT 7 |

Direction (Q. No. 76 — 80) : Study the following information carefully and answer the
questions given below.
The given bar graph shows the quantity of vegetables (Carrot and Radish ) (in kg) sold in five

different shops.

990 936
900 864

810 792
720 648
630 576 576
540 504
450 432
360
270
180

90

540
432

A B C D E
B Radish || Carrot

[ ksl RIS

76. | F# o T Al 1 AL A, C 3T D H o4 T Aehl bl S HB 2 S F H Al T A S A
FAE 4 : 58 | FH S QTSR <l AT A I |
780 kg
The quantity of Radish sold in F is the average quantity of Radish sold in A, C and D together
and the ratio of the Radish to Carrot sold in F is 4 : 5. Find the quantity of Carrot sold in F.
780 kg
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77.

B 3T D ¥ S T TSR <t AT E | S=ft 78 dfewi i et W 1 fehan wfaea 8 7

87.8%
The quantity of Carrot sold in B and D together is what percent of the total quantity of
vegetables sold in E ?

87.8%

78.

AT 2 T g HT AT A 3R B H 9 T qeA T A0 3R C IR D H S T AR H A F i
1 AW 2 | AT S 8w H P T T i | (TR, geft 3R )

1152 kg

The quantity of Pumpkin sold in A is the difference between the quantity of Radish sold in A
and B together and the quantity of Carrot sold in C and D together. Find the total quantity of
vegetables sold in A (Carrot, Radish and Pumpkin).

1152 kg

79.

B 3 F § o= T8 |fewdl shl el HIAT b1 31U 32 : 352 | F 31X D § o= T3 Hfowdl hl T&T1 &
s 3T 1@ HINT |

108 kg
The ratio of the total quantity of vegetables sold in B and F is 32 : 35. Find the difference
between the number of vegetables sold in F and D.

108 kg

80.

Tft gEl TR 3R geft < A § @ ST B 7
612 kg

What is the difference between the quantity of Carrot and Radish in all the shops together ?

612 kg

fdw (w.9. 81 - 85) : frAfcifad SFrt 1 ST 1o 3R T 6 WS |

JF4
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= feu U @ 7T 9R STeRT-3T6 gl AT A, B, C 31 D g1 9 U a9t Wise U9 6l 91 Hl
ST 3 3T AT & IR TAT-3TH Gl gRI S T A U shl T 3R IR 3T -3 Gl
S S T HI3eA U b1 we oft & E R

Direction (Q. No. 81 — 85) : Study the following information carefully and answer the
questions.

The given line graph shows the number of ball point pens sold by four different shops i.e. A, B,

C and D and also given the number of gel pens sold by four different shops and the number of
fountain pens sold by four different shops.

400
1360
' \ 320
' 300
300
' 270
240
| \_/
200
' 200 v \
/ 180 180
140
120
100 . 100
0
A B C D
4 The number of ball point pens sold
& =9 U ST W 9 H EE
The number of gel pens sold
o T S U9 S FJET
* The number of fountain pens sold
& =9 0 HEA T FH wE

81.

S F g a9 T FoA 99 H 8 40% U9 H13eH U4 8 | AfG §hM D G S 7T H13eA UH <hi H&AT
M F 8 31U 3: 4 8, ol g F gRI s 7T U 6l ol Tl S i |
600

Out of the total number of pens sold by shop F, 40% of the pens are fountain pens. If the ratio
of the number of fountain pen sold by shop D to shop F is 3 : 4, then find the total number of
pens sold by shop F.

600

82.

af¢ ghM E gRI 99 7T Sict W1ge, et 3 B8 U Y Fof TEAT g C I o1 A 33.33% FH B
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3R G C N1 9 7T HI32A 0 1 HEAT I ghM E 8 3T 7 : 58, a1 §bM E gRI 9= T st
wTse 3R et U Pl T A HIAT |

320

If the total number of ball point, gel and fountain pens sold by shop E is 33.33% less than that of
shop C and the ratio of the number of fountain pens sold by shop C to shop E

is 7 : 5, then find the total number of ball point and gel pens sold by shop E.
320

83. | gohM A G AN U S wide 3R WIS U4 S Hel T 3N g D NI S T st wige U
FeT T & S A TG B |
230
Find the difference between the total number of ball point and fountain pens sold by shop A and
the total number of ball point pens sold by shop D.
230
84. | gohM AT 99 U ST W U h FA HEAT ghH A 3N B G 99 T B U H FI T §
AT 1 R |
1:4
Find the ratio of the total number of ball point pens sold by shop A to the total number of
fountain pens sold by shops A and B together.
1:4
85. | ghM A 3R B gRI o U Sie UF i ol HEAT o B NI sl T siet w@Tge U4 shl Fel HeAl hl
fepam wferera 2 7
120%
The total number of gel pens sold by shops A and B together is what percentage of the total
number of ball point pens sold by shop B ?
120%
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fdw (9.9, 86 — 90) : ANTHT T T HL MW T HT WS |

P 3 Q gRT =R 3TerT-37e HEHT 8 ford e 3t gss (fawdt + 3ieh) few mu €
Direction (Q. No. 86 —90) : Study the table and answer the questions.

Total pages (Hindi + English) written by P and Q in four different months given.

d P Q
Month
w 240 340
May
S 320 234
June
T i 420 280
July
220 360
August
86. . . .
T3 3R S # P g fofe MU % I83, WS 3R 37RA H Q g 1@ TTU et guai ol A foha
ferera 2 ?
80%
Total pages written by P in May and June together is approximately, what percent of the total
pages written by Q in May and August together ?
80%
87. | Semé # Q g @ MU por qsSt 1 28.57% & H R | Q g1 o # fepe 3fsh gss for@ T 2
200
28.57% of the total pages written by Q in July is in Hindi. How many English pages are written
by Qin July ?
200
88. | mft wdiHi # P g fore Tmu Sfiwa s W E ¢
300
What are the average pages written by P in all the months together ?
300
89. |wEH P 3R QaH giI fof@ 7T it Ieai 3R I # P 3R Q €Hi gRT foi@ T it geai & &=
SHSI: AT H R 7
29:35
What is respective ratio between the total pages written by both P and Q in May and the total
pages written by both P and Q in July ?
29:35
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90. |37 ® P g for@ U gsai w1 wifowrd Q <t g ® @9 E g H fehanr 31U @ 2
36.75%
How much more percentage of pages written by P in June as compared to Q in same month ?
36.75%
e (1.9, 91 — 95) : TIfeTehT 1 3T B 3T T HT IW ¢ |
3T ST HEHI | °fel STERT- 3T o1 gRT s 1T T9ed |
Direction (Q. No. 91 — 95) : Study the table and answer the questions.
Laptop sold by five different stores in different months.
®R| W | g | W | e
Store | June | July | May | October
I 240 342 234 210
J 230 234 432 242
K 120 338 235 234
L 280 348 342 178
M 326 456 362 148
91.
78 0 WR K, L 3 M g S9 T A9 shl 3Ed (SFTHT) S0 1 <HIfT |
313
Find the average (approx.) number of laptop sold by stores K, L and M in May.
313
92. | 9fg @ # WR L g/ 9= T 37.5% <9< Qqul &, @f S0 § R L g o< T IR-GNY0i A9erd 1
it |
175
If 37.5% of laptop sold by store L in June is defective, then find the non-defective laptop sold
by store L in June.
175
93. | Joims 3R 3TageR § WR J g s T U 1 §&I1 05 3T I H R M R o T A9erq i
feper sl & 7
69.18%
Number of laptop sold by store J in July and October together is what percent of the laptop
sold by store M in May and June ?
69.18%
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94.

S H WR K 3R L g1 o T 99eid 3R 78 | | 3R M gRI S ¢ 9T i STU 1 7 7
100 : 149

What is the ratio of the laptop sold by store K and L in June and the laptop sold by | and M in
May ?
100 : 149

95.

e H W | gRT S TTT et AA9eTd, o 8 ot AT T 71.42% B | 37eK T 8 =R | § 7 foea
A AL <hl &I 10 |
84

In October total laptop sold by store | is 71.42% of total laptop in the shop. Find the number of
unsold laptop in store | in the month of October.
84

96.

Choose the correct question tag for the following statement.

The windows are open,
aren’t they ?

97.

Choose the word which is nearest in meaning (synonym) to the given word.

Admire
Praise

98.

Choose the indirect form of the given sentence.

| said, “The teacher likes me”.
| said that the teacher liked me.

Direction (Q. No. 99 and 100) : Read the passage and choose the correct option to answer
the questions that follow :

Advances in Electric Vehicles

Electric Vehicles (EVs) have gained popularity as an alternative to traditional gasoline-
powered cars. They offer environmental benefits, such as reduced greenhouse gas emissions
and lower air pollution. Many countries are investing in EV infrastructure, including charging
stations, to support the widespread adoption of electric vehicles.

99.

Which of the following is a type of EV infrastructure ?

Charging stations

100.

Why are countries investing in EV infrastructure ?
To support EV adoption
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